

I. Kubiaczyk, S. H. Saker

## KAMENEV-TYPE OSCILLATION CRITERIA FOR HYPERBOLIC DELAY DIFFERENCE EQUATIONS

**Abstract.** Some new oscillation criteria and discrete Kamenev-type oscillation criteria for hyperbolic nonlinear delay difference equations are obtained.

### 1. Introduction

Qualitative theory for discrete dynamics systems with one dimension, i.e., ordinary difference equations which parallels the qualitative theory of differential equations, has been investigated by several authors, see e.g., the monographs [1], [2] and the references cited therein. On the other hand, the nonlinear discrete dynamics systems involving functions of two or more independent variables, i.e., partial difference equations (PDEs), are as important as difference equations, comparatively few papers have been devoted to the qualitative theory of their solutions, see, e.g., the review article of Zhang [18]. In fact, partial difference equations arise in the approximation of solutions of partial differential equations by finite difference methods, random walk problems, the study on molecular orbits, mathematical physics problems and other problems in population dynamics [3]–[6]. Hence, to further develop the qualitative theory of partial difference equations, in this paper we shall consider the following hyperbolic nonlinear delay difference equation

$$(1.1) \quad \begin{aligned} \Delta_2(p_n \Delta_2 y_{m,n}) + q_{m,n} f(y_{m,n-\sigma}) \\ = r_n \nabla^2 y_{m-1,n+1} + \sum_{j \in J} R_{j,n} \nabla^2 y_{m-1,n+1-\gamma_j}, \end{aligned}$$

where  $\{y_{m,n}\} = \{y_{m_1, m_2, \dots, m_l, n}\}$  which is defined in  $\Omega \times \mathbb{N}_{n_0}$ ,  $J = \{1, 2, \dots, J_0\}$ ,  $\mathbb{N}_{n_0} = \{n_0, n_0 + 1, \dots\}$  and  $\Omega = \{p_1^{(1)}, \dots, p_{M_1}^{(1)}\} \times \dots \times \{p_1^{(l)}, \dots, p_{M_l}^{(l)}\}$  and every  $p_i^{(j)} \in \mathbb{Z} := \{\dots, -1, 0, 1, \dots\}$ .

---

*Key words and phrases:* oscillation, hyperbolic delay difference equations.  
*1991 Mathematics Subject Classification:* 39A10.

We will need the following definitions which are extracted from [7].

**DEFINITION 1.1.**  $m$  is said to be an interior point of  $\Omega$ , if  $m+1 := \{m_1+1, m_2, \dots, m_l\} \cup \dots \cup \{m_1, m_2, \dots, m_{l-1}, m_l+1\}$  and  $m-1 := \{m_1-1, m_2, \dots, m_l\} \cup \dots \cup \{m_1, m_2, \dots, m_{l-1}, m_l-1\}$  are all in  $\Omega$ ;  $\Omega^0$  which consists of all interior points, is said to be interior of  $\Omega$ .

**DEFINITION 1.2.**  $m$  is said to be a convex boundary point of  $\Omega$ , if  $m \in \Omega$  and at least  $l$  points of  $m \pm 1$  are in  $\Omega$ ;  $m$  is said to be a convex boundary point, if  $m, m \pm 1 \in \Omega$  but just one of the points  $\{m_1 \pm 1, m_2, \dots, m_l \pm 1\}$  is not in  $\Omega$ , where  $\{m_1 \pm 1, m_2, \dots, m_l \pm 1\} := \{m_1+1, m_2, \dots, m_l+1\} \cup \{m_1-1, m_2+1, \dots, m_l+1\} \cup \dots \cup \{m_1-1, m_2, \dots, m_l-1\}$ ,  $\partial\Omega$  which consists of all (convex and concave) boundary points, is said to be a boundary of  $\Omega$ .

**DEFINITION 1.3.**  $\Omega$  is said to be convex, if  $\partial\Omega$  consists only of all convex points.

**DEFINITION 1.4.**  $m$  is said to be an exterior point, if it is neither an interior point nor a boundary point.

**DEFINITION 1.5.**  $m$  is said to be (admissible) point, if at least two points of  $m \pm 1$  are in  $\Omega$ .

**DEFINITION 1.6.**  $\Omega$  is said to be a connected net, if  $\Omega$  consists only of all (admissible) points.

**DEFINITION 1.7.** If  $\Omega$  is a rectangular solid net, then  $\partial\Omega$  consists only of all convex boundary points, and  $\Omega$  a convex connected solid net.

Throughout this paper we consider a convex connected solid net  $\Omega$ , and assume that the following conditions are satisfied:

$$(h1) \quad r_n, p_n \in \mathbb{N}_{n_0} \rightarrow \mathbb{R}^+, \quad \sum_{n=n_0}^{\infty} \frac{1}{p_n} = \infty, \quad R_{j,n} \in J \times \mathbb{N}_{n_0} \rightarrow \mathbb{R}^+;$$

(h2)  $q_{m,n} \in \Omega \times \mathbb{N}_{n_0} \rightarrow \mathbb{R}^+$ ,  $q_n = \min_{m \in \Omega} \{q_{m,n}\}$ ,  $n \in \mathbb{N}_{n_0}$ ,  $\{q_n\}$  has a positive subsequence;

$$(h3) \quad \sigma \in \mathbb{N}_1 \text{ and } \gamma_j \in \mathbb{N}_1, \text{ for } j \in J,$$

$$(h4) \quad f \in C(\mathbb{R}, \mathbb{R}) \text{ is convex, } uf(u) > 0 \text{ for } u \neq 0, \quad f(u) \geq ku.$$

We write  $\nabla^2$  is the discrete Laplacian operator, which is defined by  $\nabla^2 y_{m-1,n+1} = \sum_{i=1}^l \Delta_{m_i}^2 y_{m_1, m_2, \dots, m_{i-1}, m_i-1, \dots, m_l, n+1}$ , where  $\Delta_i^2$  is the partial difference operator of order two i.e.,  $\Delta_i^2 y_{m,n} = \Delta_i(\Delta_i y_{m,n})$ ,  $\Delta_{m_i} y_{m,n} = y_{m_1, m_2, \dots, m_i+1, \dots, m_l, n} - y_{m_1, m_2, \dots, m_i, \dots, m_l, n}$  and  $\Delta_2 y_{m,n} = y_{m,n+1} - y_{m,n}$ .

With Eq. (1.1) we consider the boundary condition

$$(B) \quad \Delta_N y_{m-1,n} + g_{m,n} y_{m,n} = 0, \quad \text{on } \partial\Omega \times \mathbb{N}_{n_0},$$

and the initial condition (IC)

$$(1.2) \quad y_{m,s} = \mu_{m,s}, \quad \text{for } n_0 - M \leq s \leq n_0,$$

where  $\Delta_N y_{m-1,n}$  is the normal difference at  $(m, n) \in \partial\Omega \times \mathbb{N}_{n_0}$  is defined by  $\Delta_N y_{m-1,n} = \sum_{\text{all } m \pm 1 \notin \Omega} (\Delta_1 y_{m,n} - \Delta_1 y_{m-1,n}) = \sum_{\text{all } m \pm 1 \notin \Omega} \Delta_1^2 y_{m,n}$ ,  $M = \max\{\sigma, \gamma_j : \text{and } j \in J\}$  and  $g_{m,n} \in \partial\Omega \times \mathbb{N}_{n_0} \rightarrow \mathbb{R}^+$ .

By a solution of initial boundary value problem (1.1), (B), (1.2) (for short we use the notion IBVP (1.1), (B)) we mean a sequence  $\{y_{m,n}\}$  which satisfies Eq. (1.1) for  $(m, n) \in \Omega \times \mathbb{N}_{n_0}$ , satisfies (B) for  $(m, n) \in \partial\Omega \times \mathbb{N}_{n_0}$  and satisfies IC (1.2) for  $(m, n) \in \Omega \times \{n_0 - M, \dots, n_0\}$ .

For the oscillation of the hyperbolic delay differential equation

$$(1.3) \quad \begin{aligned} \frac{\partial}{\partial t} \left( p(t) \frac{\partial}{\partial t} u(x, t) \right) \\ = a(t) \nabla^2 u(x, t) + \sum_{i=1}^m a_i(t) \Delta u(x, t - \tau_i) - q(x, t) u(x, t) \\ - \sum_{j=1}^n q_j(x, t) f(u(x, t - \sigma_j)), \end{aligned}$$

together with the boundary condition

$$(B1) \quad \frac{\partial u(x, t)}{\partial N} + \gamma(x, t) u(x, t) = 0, \quad \text{on } (x, t) \in \partial\Omega \times \mathbb{R}^+,$$

where  $\nabla^2 u$  is the Laplacian in  $\mathbb{R}^n$ ,  $(x, t) \in \Omega \times \mathbb{R}^+ \equiv G$ ,  $\mathbb{R}^+ = [0, \infty)$ ,  $\Omega$  is a bounded domain in  $\mathbb{R}^n$  with a piecewise smooth boundary  $\partial\Omega$ ,  $\gamma(x, t)$  is nonnegative continuous function on  $\partial\Omega \times \mathbb{R}^+$ , and  $N$  is the unit exterior normal vector to  $\partial\Omega$ , we refer to the papers [8]–[17],

Our aim in this paper is to establish some sufficient conditions for oscillation of the IBVP (1.1), (B) in  $\Omega \times \mathbb{N}_{n_0}$ , in the sense that there does not exist  $n_1 \in \mathbb{N}_{n_0}$  such that  $y_{m,n} > 0$  or  $y_{m,n} < 0$  for  $n \in \mathbb{N}_{n_1}$ . Our results can be considered as the discrete analogues of some results in [8], [14]. To the best of our knowledge nothing is known up to now regarding the qualitative behavior of the IBVP (1.1), (B).

## 2. Main results

In this section we will establish some oscillation criteria for IBVP (1.1), (B). Before stating our main results we need the following:

LEMMA 2.1 ([7] (Discrete Gaussian formula)). *Let  $\Omega$  be a convex connected solid net. Then we have*

$$\sum_{m \in \Omega} \nabla^2 y_{m-1,n+1} = \sum_{m \in \partial\Omega} \Delta_N y_{m-1,n}.$$

**THEOREM 2.1.** *Assume that (h1)–(h4) hold. Furthermore, assume that there exists a positive sequence  $\{\rho_n\}_{n=1}^{\infty}$  such that,*

$$(2.1) \quad \lim_{n \rightarrow \infty} \sup_{l=n_0} \sum_{l=n_0}^n \left[ k\rho_l q_l - \frac{(p_{l-\sigma})(\Delta \rho_l)^2}{4\rho_l} \right] = \infty.$$

*Then every solution of IVP (1.1), (B) is oscillatory in  $\Omega \times \mathbb{N}_{n_0}$ .*

**P r o o f.** Suppose, to a contrary, that  $\{y_{m,n}\}$  is a nonoscillatory solution of the IVP (1.1), (B). Without loss of generality, we may assume that there exists  $n_1 \in \mathbb{N}_{n_0}$  such that  $y_{m,n-M} > 0$  for all  $n \in \mathbb{N}_{n_1}$ . Summing Eq. (1.1) over  $\Omega$ , we have

$$(2.2) \quad \begin{aligned} & \Delta_2(p_n \sum_{m \in \Omega} \Delta_2 y_{m,n}) + \sum_{m \in \Omega} q_{m,n} f(y_{m,n-\sigma}) \\ &= r_n \sum_{m \in \Omega} \nabla^2 y_{m-1,n+1} + \sum_{j \in J} R_{j,n} \sum_{m \in \Omega} \nabla^2 y_{m-1,n+1-\gamma_j}, \\ & \quad \text{for } (m, n) \in \Omega \times \mathbb{N}_{n_1}. \end{aligned}$$

From Lemma 2.1 and (B) we find that

$$(2.3) \quad \begin{aligned} \sum_{m \in \Omega} \nabla^2 y_{m-1,n+1} &= \sum_{m \in \partial\Omega} \Delta_N y_{m-1,n+1} \\ &= - \sum_{m \in \partial\Omega} g_{m,n+1} y_{m,n+1} \leq 0, \quad \text{for } n \in \mathbb{N}_{n_1}, \end{aligned}$$

$$(2.4) \quad \begin{aligned} \sum_{m \in \Omega} \nabla^2 y_{m-1,n+1-\gamma_j} &= \sum_{m \in \partial\Omega} \Delta_N y_{m-1,n+1-\gamma_j} \\ &= - \sum_{m \in \partial\Omega} g_{m,n+1-\gamma_j} y_{m,n+1-\gamma_j} \leq 0, \end{aligned}$$

for  $j \in J$  and  $n \in \mathbb{N}_{n_1}$ . From (h2) and by using the discrete Jensens's inequality, we have

$$(2.5) \quad \begin{aligned} \sum_{m \in \Omega} q_{m,n} f(y_{m,n-\sigma}) &\geq q_n \sum_{m \in \Omega} f(y_{m,n-\sigma}) \\ &\geq q_n \sum_{m \in \Omega} f\left(\frac{1}{|\Omega|} \sum_{m \in \Omega} y_{m,n-\sigma}\right) |\Omega|, \quad \text{for } n \in \mathbb{N}_{n_1}. \end{aligned}$$

Set

$$(2.6) \quad x_n = \frac{1}{|\Omega|} \sum_{m \in \Omega} y_{m,n}.$$

Then, by (h4) and (2.2)–(2.6) we obtain

$$(2.7) \quad \Delta(p_n \Delta x_n) + k q_n x_{n-\sigma} \leq 0,$$

where  $\Delta$  is the ordinary difference operator. In view of (h2), we have

$$\Delta(p_n \Delta x_n) \leq -k q_n x_{n-\sigma} \leq 0, \quad n \in \mathbb{N}_{n_1},$$

and so  $\{p_n \Delta x_n\}$  is nonincreasing sequence. We first show that  $p_n \Delta x_n$  is positive. Indeed, since  $\{q_n\}$  has a positive subsequence, then  $p_n \Delta x_n$  is of constant sign. Suppose there exists an integer  $n_2 \geq n_1$  such that  $p_{n_1} \Delta x_{n_1} = c < 0$  for  $n \geq n_2$ . Then  $p_n \Delta x_n \leq c$  which implies that

$$\Delta x_n \leq \frac{c}{p_n},$$

and this yields

$$x_n \leq x_{n_2} + c \sum_{i=n_2}^{n-1} \frac{1}{p_i} \rightarrow -\infty \text{ as } n \rightarrow \infty,$$

which contradicts the fact that  $x_n > 0$  for all sufficiently large  $n$ . Hence  $p_n \Delta x_n$  is positive. Therefore, we see that

$$(2.8) \quad x_n > 0, \quad \Delta x_n \geq 0, \quad \Delta(p_n \Delta x_n) \leq 0, \quad n \in \mathbb{N}_{n_1}.$$

Define the sequence  $\{w_n\}$  by

$$(2.9) \quad w_n = \rho_n \frac{p_n \Delta x_n}{x_{n-\sigma}},$$

and observe that  $w_n > 0$ , and

$$(2.10) \quad \Delta w_n = p_{n+1} \Delta x_{n+1} \Delta \left[ \frac{\rho_n}{x_{n-\sigma}} \right] + \frac{\rho_n \Delta(p_n \Delta x_n)}{x_{n-\sigma}}.$$

Then (2.7) and (2.10) imply that

$$(2.11) \quad \Delta w_n \leq -k \rho_n q_n + \frac{\Delta \rho_n}{\rho_{n+1}} w_{n+1} - \frac{\rho_n p_{n+1} \Delta x_{n+1} \Delta x_{n-\sigma}}{x_{n+1-\sigma} x_{n-\sigma}}.$$

But from (2.8), we have

$$(2.12) \quad p_{n-\sigma} \Delta x_{n-\sigma} \geq p_{n+1} \Delta x_{n+1}, \quad \text{and} \quad x_{n+1-\sigma} \geq x_{n-\sigma},$$

and thus from (2.11) and (2.12), we obtain

$$(2.13) \quad \Delta w_n \leq -k \rho_n q_n + \frac{\Delta \rho_n}{\rho_{n+1}} w_{n+1} - \frac{\rho_n}{(\rho_{n+1})^2} \frac{1}{(p_{n-\sigma})} w_{n+1}^2.$$

So

$$\begin{aligned} \Delta w_n &\leq -k \rho_n q_n + \frac{(p_{n-\sigma})(\Delta \rho_n)^2}{4 \rho_n} \left[ \frac{\sqrt{\rho_n}}{\rho_{n+1} \sqrt{(p_{n-\sigma})}} w_{n+1} - \frac{\sqrt{(p_{n-\sigma})} \Delta \rho_n}{2 \sqrt{\rho_n}} \right]^2 \\ &< - \left[ \rho_n q_n - \frac{(p_{n-\sigma})(\Delta \rho_n)^2}{4 \rho_n} \right], \end{aligned}$$

and hence

$$(2.14) \quad \Delta w_n < - \left[ \rho_n q_n - \frac{(p_{n-\sigma})(\Delta \rho_n)^2}{4 \rho_n} \right].$$

Summing (2.14) up from  $n_1$  to  $n$ , we obtain

$$-w_{n_1} < w_{n+1} - w_{n_1} < - \sum_{l=n_1}^n \left[ k\rho_l q_l - \frac{(p_{l-\sigma})(\Delta\rho_l)^2}{4\rho_l} \right],$$

and this implies that

$$(2.15) \quad \sum_{l=n_1}^n \left[ k\rho_l q_l - \frac{(p_{l-\sigma})(\Delta\rho_l)^2}{4\rho_l} \right] < c_1$$

for all sufficiently large  $n$ . This is a contrary to (2.1). The proof is complete.

For  $\rho_n = n$  and  $p_n = 1$  in Theorem 2.1 then the condition (2.1) reduces to

$$(2.16) \quad \lim_{n \rightarrow \infty} \sup \sum_{l=n_0}^n \left[ klq_l - \frac{1}{4l} \right] = \infty.$$

From Theorem 2.1, by different choices of  $\{\rho_n\}$  we can obtain different conditions for oscillation of all solutions of the IVP (1.1), (B) in  $\Omega \times \mathbb{N}_{n_0}$ . Let  $\rho_n = n^\lambda$ ,  $n \geq n_0$  and  $\lambda > 1$  is a constant.

**COROLLARY 2.1.** *Assume that all the assumption of Theorem 2.1 hold, except that the condition (2.1) is replaced by*

$$(2.17) \quad \lim_{n \rightarrow \infty} \sup \sum_{s=n_0}^n \left[ ks^\lambda q_s - \frac{(p_{s-\sigma})((s+1)^\lambda - s^\lambda)^2}{4s^\lambda} \right] = \infty.$$

*Then, every solution of IVP (1.1), (B) is oscillatory in  $\Omega \times \mathbb{N}_{n_0}$ .*

In the following theorem, we give the discrete analogue of Theorem 2 in [8], [14].

**THEOREM 2.2.** *Assume that (h1)–(h4) hold. Let  $\{\rho_n\}_{n=1}^\infty$  be a positive sequence. Furthermore, we assume that there exists a double sequence  $\{H_{m,n} : m \geq n \geq 0\}$  such that*

- (i)  $H_{m,m} = 0$  for  $m \geq 0$ ,
- (ii)  $H_{m,n} > 0$  for  $m > n \geq 0$ ,
- (iii)  $\Delta_2 H_{m,n} = H_{m,n+1} - H_{m,n} \leq 0$  for  $m \geq n \geq 0$ .

*Assume that*

$$(2.18) \quad \lim_{m \rightarrow \infty} \sup \frac{1}{H_{m,n_0}} \sum_{n=n_0}^{m-1} \left[ kH_{m,n} \rho_n q_n - \frac{(p_{n-\sigma})\rho_{n+1}^2}{\rho_n} \left( h_{m,n} - \frac{\Delta\rho_n}{\rho_{n+1}} \sqrt{H_{m,n}} \right)^2 \right] = \infty,$$

*where*

$$(2.19) \quad h_{m,n} = -\frac{\Delta_2 H_{m,n}}{\sqrt{H_{m,n}}}, \quad m > n \geq 0.$$

Then every solution of IBVP (1.1), (B) is oscillatory in  $\Omega \times \mathbb{N}_{n_0}$ .

**P r o o f.** We proceed as in the proof of Theorem 2.1. Assume that IBVP (B) has a nonoscillatory solution. Without loss of generality, we may assume that it has a positive solution in  $\Omega \times \mathbb{N}_{n_0}$ . Following the proof of Theorem 2.1 we have  $x_n > 0$ ,  $\Delta x_n > 0$ ,  $\Delta(p_n \Delta x_n) \leq 0$  for  $n \geq n_1$ . Defining again  $\{w_n\}$  by (2.9) we have that  $w_n > 0$  and (2.13) holds. Then from (2.13) we have

$$(2.20) \quad k \rho_n q_n \leq -\Delta w_n + \frac{\Delta \rho_n}{\rho_{n+1}} w_{n+1} - \frac{\bar{\rho}_n}{(\rho_{n+1})^2} w_{n+1}^2,$$

where  $\bar{\rho}_n = \frac{\rho_n}{(p_{n-\sigma})}$ . Therefore we have

$$(2.21) \quad \sum_{n=n_1}^{m-1} k H_{m,n} \rho_n q_n \\ \leq - \sum_{n=n_1}^{m-1} H_{m,n} \Delta w_n + \sum_{n=n_1}^{m-1} H_{m,n} \frac{\Delta \rho_n}{\rho_{n+1}} w_{n+1} - \sum_{n=n_1}^{m-1} H_{m,n} \frac{\bar{\rho}_n}{(\rho_{n+1})^2} w_{n+1}^2$$

which yields, after summing up by part,

$$\begin{aligned} & \sum_{n=n_1}^{m-1} k H_{m,n} \rho_n q_n \\ & \leq H_{m,n_1} w_{n_1} + \sum_{n=n_1}^{m-1} w_{n+1} \Delta_2 H_{m,n} + \sum_{n=n_1}^{m-1} H_{m,n} \frac{\Delta \rho_n}{\rho_{n+1}} w_{n+1} \\ & \quad - \sum_{n=n_1}^{m-1} H_{m,n} \frac{\bar{\rho}_n}{(\rho_{n+1})^2} w_{n+1}^2 \\ & = H_{m,n_1} w_{n_1} - \sum_{n=n_1}^{m-1} h_{m,n} \sqrt{H_{m,n}} w_{n+1} + \sum_{n=n_1}^{m-1} H_{m,n} \frac{\Delta \rho_n}{\rho_{n+1}} w_{n+1} \\ & \quad - \sum_{n=n_1}^{m-1} H_{m,n} \frac{\bar{\rho}_n}{(\rho_{n+1})^2} w_{n+1}^2 = H_{m,n_1} w_{n_1} \\ & \quad - \sum_{n=n_1}^{m-1} \left[ \frac{\sqrt{H_{m,n} \bar{\rho}_n}}{\rho_{n+1}} w_{n+1} + \frac{\rho_{n+1}}{2\sqrt{H_{m,n} \bar{\rho}_n}} \left( h_{m,n} \sqrt{H_{m,n}} - \frac{\Delta \rho_n}{\rho_{n+1}} H_{m,n} \right) \right]^2 \\ & \quad + \frac{1}{4} \sum_{n=n_1}^{m-1} \frac{(\rho_{n+1})^2}{\bar{\rho}_n} \left( h_{m,n} - \frac{\Delta \rho_n}{\rho_{n+1}} \sqrt{H_{m,n}} \right)^2. \end{aligned}$$

Thus,

$$\begin{aligned} \sum_{n=n_1}^{m-1} \left[ kH_{m,n} \rho_n q_n - \frac{(\rho_{n+1})^2}{4\rho_n} \left( h_{m,n} - \frac{\Delta \rho_n}{\rho_{n+1}} \sqrt{H_{m,n}} \right)^2 \right] \\ < H_{m,n_1} w_{n_1} \leq H_{m,n_0} w_{n_1} \end{aligned}$$

which implies that

$$\begin{aligned} \sum_{n=n_0}^{m-1} \left[ kH_{m,n} \rho_n q_n - \frac{(\rho_{n+1})^2}{4\rho_n} \left( h_{m,n} - \frac{\Delta \rho_n}{\rho_{n+1}} \sqrt{H_{m,n}} \right)^2 \right] \\ < H_{m,n_0} \left( w_{n_1} + \sum_{n=n_0}^{n_1-1} k \rho_n q_n \right). \end{aligned}$$

Hence

$$\begin{aligned} \lim_{m \rightarrow \infty} \sup \frac{1}{H_{m,n_0}} \sum_{n=n_0}^{m-1} \left[ kH_{m,n} \rho_n q_n - \frac{(\rho_{n+1})^2}{4\rho_n} \left( h_{m,n} - \frac{\Delta \rho_n}{\rho_{n+1}} \sqrt{H_{m,n}} \right)^2 \right] \\ < \left( w_{n_1} + \sum_{n=n_0}^{n_1-1} k \rho_n q_n \right) < \infty, \end{aligned}$$

which is a contrary to (2.18). The proof is complete.

As an immediate consequence of Theorem 2.2, we get the following:

**COROLLARY 2.2.** *Assume that all the assumptions of Theorem 2.2 hold, except that the condition (2.18) is replaced by*

$$\begin{aligned} \lim_{m \rightarrow \infty} \sup \frac{1}{H_{m,n_0}} \sum_{n=n_0}^{m-1} H_{m,n} \rho_n q_n = \infty, \\ \lim_{m \rightarrow \infty} \sup \frac{1}{H_{m,n_0}} \sum_{n=n_0}^{m-1} \frac{(p_{n-\sigma}) \rho_{n+1}^2}{\rho_n} \left( h_{m,n} - \frac{\Delta \rho_n}{\rho_{n+1}} \sqrt{H_{m,n}} \right)^2 < \infty. \end{aligned}$$

*Then every solution of IBVP (1.1), (B) is oscillatory in  $\Omega \times \mathbb{N}_{n_0}$ .*

By choosing the sequence  $\{H_{m,n}\}$  in an appropriate manner, we can derive several oscillation criteria for the IBVP (1.1), (B) in  $\Omega \times \mathbb{N}_{n_0}$ . For instance, let us consider the double sequence  $\{H_{m,n}\}!$  defined by

$$(2.22) \quad \begin{cases} H_{m,n} = (m-n)^\lambda, & \lambda \geq 1, m \geq n \geq 0, \\ H_{m,n} = \left( \log \frac{m+1}{n+1} \right)^\lambda, & \lambda \geq 1, m \geq n \geq 0, \\ H_{m,n} = (m-n)^{(\lambda)}, & \lambda > 2, m \geq n \geq 0, \end{cases}$$

where  $(m-n)^{(\lambda)} = (m-n)(m-n+1) \dots (m-n+\lambda-1)$ , and

$$\Delta_2(m-n)^{(\lambda)} = (m-n-1)^{(\lambda)} - (m-n)^{(\lambda)} = -\lambda(m-n)^{(\lambda-1)}.$$

Then  $H_{m,m} = 0$  for  $m \geq 0$  and  $H_{m,n} > 0$  and  $\Delta_2 H_{m,n} \leq 0$  for  $m > n \geq 0$ . Hence we have the following results.

**COROLLARY 2.3.** *Assume that all the assumptions of Theorem 2.2 hold, except that the condition (2.18) is replaced by*

$$\lim_{m \rightarrow \infty} \sup \frac{1}{m^\lambda} \sum_{n=0}^{m-1} \left[ (m-n)^\lambda k \rho_n q_n - \frac{\rho_{n+1}^2}{4\bar{\rho}_n} \left( \lambda(m-n)^{\frac{\lambda-2}{2}} - \frac{\Delta \rho_n}{\rho_{n+1}} \sqrt{(m-n)^\lambda} \right)^2 \right] = \infty.$$

*Then every solution of IVP (1.1), (B) is oscillatory in  $\Omega \times \mathbb{N}_{n_0}$ .*

**COROLLARY 2.4.** *Assume that all the assumptions of Theorem 2.2 hold, except that the condition (2.18) is replaced by*

$$\lim_{m \rightarrow \infty} \sup \frac{1}{(\log(m+1))^\lambda} \sum_{n=0}^{m-1} \left[ \left( \log \frac{m+1}{n+1} \right)^\lambda k \rho_n q_n - \frac{\rho_{n+1}^2}{4\bar{\rho}_n} \left( \frac{\lambda}{n+1} \left( \log \frac{m+1}{n+1} \right)^{\frac{\lambda-2}{2}} - \frac{\Delta \rho_n}{\rho_{n+1}} \sqrt{\left( \log \frac{m+1}{n+1} \right)^\lambda} \right)^2 \right] = \infty.$$

*Then every solution of IVP (1.1), (B) is oscillatory in  $\Omega \times \mathbb{N}_{n_0}$ .*

**COROLLARY 2.5.** *Assume that all the assumptions of Theorem 2.2 hold, except that the condition (2.18) is replaced by*

$$\lim_{m \rightarrow \infty} \sup \frac{1}{m^{(\lambda)}} \sum_{n=0}^{m-1} (m-n)^{(\lambda)} \left[ k \rho_n q_n - \frac{\rho_{n+1}^2}{4\bar{\rho}_n} \left( \frac{\lambda}{m-n+\lambda-1} - \frac{\Delta \rho_n}{\rho_{n+1}} \right)^2 \right] = \infty.$$

*Then every solution of IVP (1.1), (B) is oscillatory in  $\Omega \times \mathbb{N}_{n_0}$ .*

## References

- [1] R. P. Agarwal, *Difference Equations and Inequalities, Theory, Methods and Applications*, Second Edition, Marcel Dekker, New York, 2000.
- [2] R. P. Agarwal and P. J. Y. Wong, *Advanced Topics in Difference Equations*, Kluwer Academic Publishers, Dordrecht, 1997.
- [3] S. S. Cheng, *Invitation to partial difference equations*, in: Communications in Difference Equations, Proceedings of the fourth International Conference on Difference Equations, Poznan, Poland, August 27–31, 1998. Gordon and Breach Science Publishers, 91–106.
- [4] R. Courant, K. Friedrichs and H. Lewy, *On partial difference equations of mathematical physics*, IBMJ. 11 1967, 215.
- [5] W. G. Kelley and A. C. Peterson, *Difference Equations; An Introduction with Applications*, Academic Press, New York, 1991.

- [6] X. P. Li, *Partial difference equations used in the study of molecular orbits*, Acta Chimica Sinica (in Chinese) 40 (1982), 688-696 .
- [7] B. Shi, Z. C. Wang and J. S. Yu, *Oscillation of nonlinear partial difference equations with delays*, Comp. Math. Appl. 32 (1996), 29-39.
- [8] W. N. Li, *Oscillation for solutions of partial differential equations with delays*, Demonstratio Math. 29 (2000), 317-332.
- [9] D. D. Bainov and D. P. Mishev, *Oscillation Theory for Neutral Differential Equations with Deviating Arguments*, Adam Hilger, New York, 1991.
- [10] B. T. Cui, *Oscillation properties fo the solutions of hyperbolic eqqtions with deviating arguments*, Demonstratio Math. 29 (1996), 61-68.
- [11] B. S. Lalli, Y. H. Yu and B. T. Cui, *Oscillation of certian partial differential equations with deviating arguments*, Bull. Aust. Math. Soc. 46 (1992), 373-380.
- [12] Y. K. Li, *Oscillation of system of hyperbolic differential equations with deviating arguments*, Acta. Math. Sinica. 40 (1997), 100-105.
- [13] D. P. Mishev and D. D. Bainov, *Properties of a class of hyperbolic equations of neutral type*, Funk. Ekvac. 29 (1986), 213-218.
- [14] S. H. Saker, *Oscillation of hyperbolic equations with deviating arguments*, Publ. Math. Debr., in press.
- [15] P. C. Wang, X. L. Fu and Y. H. Yu, *Oscillation of a class of delay hyperbolic equations*, J. Math. Res. Exp. 18 (1998), 105-111.
- [16] P. C. Wang, *Forced oscillation of a class on nonlinear delay hyperbolic equations*, Math. Slov. 49 (1999), 495-501.
- [17] P. C. Wang, *Oscillation of of a class of delay hyperbolic equations boundary value problem (II)*, Appl. Math. Comp. 100 (1999), 99-109.
- [18] B. G. Zhang, *Oscillation of delay partial difference equations*, Progress in Natural Science 11 (2001), 321-330.

Ireneusz Kubiaczyk

FACULTY OF MATHEMATICS AND COMPUTER SCIENCE

ADAM MICKIEWICZ UNIVERSITY

Matejki 48/49,

60-769 POZNAŃ, POLAND

E-mail: kuba@amu.edu.pl

S. H. Saker

MATHEMATICS DEPARTMENT

FACULTY OF SCIENCE

MANSOURA UNIVERSITY

MANSOURA, 35516, EGYPT

E-mail: shsaker@mum.mans.eun.eg

Received February 14, 2002; revised version August 27, 2002.